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HATEWS

%&Ebo) % = this summer /

bfcL =1/

\& <topic particle> /

%&%’C = with my family /

EleJ féﬁfc: & % 7 )L = the hotel which exists inside the mountain

* 35 % = <plain-style-nonpast-affirmative> of &% D £9 g1 = there is ~, have ~, exist /
IC <existence particle> /

5?3? N FE U7z, =stay (at a hotel) //

This summer, | stayed at the hotel which is located inside the mountain with my family.

AE 5H N
RIS RFTILD 3ELS D INR{EFX T, =from the station to the bus stop which is near the

hotel /
JNAT =by bus/
CHhHhAWVLES

28F B L _E = more than two hours, over two hours /
WD XU T, =ittook (time), it cost (money) //

It took more than two hours to go to the bus stop which is near the hotel from the station.

W
INZAED S IRT )L E T = from the bus stop to the hotel /
|& <topic particle> /
FZ i’ﬂ:?
#HL\ 3 = a narrow road /
%Z <the particle which shows the place where (X) go through (pass by)>
SAlwoRA B
30 73 i< =nearly thirty minutes, almost thirty minutes /

H>3
HSEF U, =walked //

We walked on the narrow road for nearly thirty minutes from the bus stop to the hotel.

T )L =hotel /

|& <topic particle> /
50

INEL T =(X)issmall and ....., small and .....



* To make the te-form of an i-adjective, we change the last i’ of an i-adjective into ‘kute’. And to
make the te-from of a na-adjective, we add ‘de’ to a na-adjective without ‘na’.
* To join the sentence which ends with [i- adjective / na-adjective / noun] 9’ to another

sentence, ‘[stem of i-adjective] < T or [stem of na-adjective / noun] ’is used . We call them

te-form of an adjective and a noun. To join adjectives, we also use te-form of an adjective. And it
is sometimes used to show reason as well. te-form of an adjective and a noun can be used in
either the nonpast sentence or the past sentence.

* In addition to ‘[stem of i-adjective] < T’, ‘[stem of i-adjective] <’ is also used to be more

formal. /

%%75\9 1cT9 = (X)was old /

HY. =but/

ﬁé\tat ETH W\ TU T, =the inside was very beautiful (clean) //

The hotel was small and old, but the inside was very beautiful.

IRTILIC &< =arrive at the hotel
* & < = <plain-style-nonpast-affirmative> of &= £ 9 g1 = arrive, reach /

&. =[plain-style] &. =.... and naturally (consequently) ~ /
L9
BEF =son/

|& <topic particle> /
H &
'LED B 7=\, 1 =<plain-style-nonpast-affirmative>of 7L EA' B 7=L\ T3 =want to

watch TV
* [masu-form] 7=L\T9 = want to do ~

M7P—LHY U 7z\\s | = <plain-style-nonpast-affirmative> of 7' —/AhY U 72\\ T = want to

play the game
& <quotation particle> /

%b\i UZzo =said//

We arrived at the hotel and consequently (When we arrived at the hotel,) my son said, ‘| want to
watch TV’ and ‘| want to play the game.’

LA L. =But/

Z D kT )L = this hotel /

|C <existence particle> /

|& <topic particle> /

EBE5 £ =either one /

&H D EXHE Ao, =thereis not ~, don’t have ~, don't exist /
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But, there is not either one in this hotel. &=

ZnhH 5. = after that, in addition to that, besides, moreover

nwes

AEED T7IVbD D EHA. =thereis not both a refrigerator and a air-conditioner %= //

Moreover, there is not both a refrigerator and a air-conditioner.

D RTFILIE EE%?JT“L&* % D £t A TUT = this hotel was not convenient /
h'. =but/

KN HISH

LLI*> 38 < = on the mountain, in the lake, and at any other place “-

WBW3B I & A TEX UK. =could do various things //

This hotel was not convenient, but we could do many things on the mountain and in the lake.

E?Bl:% = room /

\C <recipient particle> /

%‘T% = baggage, luggage, parcel /

%f: <direct-object particle> /

%L\‘C = %% F9, £UT. =put~and.....

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
it is sometimes used to show reason as well.

%7& F%H%) = open a window

* Fi;% |7 % = <plain-style-nonpast-affirmative> of Fiiﬁ [7& 9 g2 =open
&, =[plain-style] &. =.... and naturally (consequently) ~ /
at}gﬂa%‘b} = from the lake /

ki e

R UL & = cool wind /

hHY <subject particle> /

A>T ZEFXUTo =camein//

We put our baggage in the room and opened the window, and naturally the cool wind came in
from the lake.
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E‘ L = allittle, a few /

?%/u—f“ M5, = after resting

*fRHET g1 =rest

* [te-from] Hv5 = after doing ~ /

El Eﬁ% WMo T DT, =because it was still bright

* OJT [plaln style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] @ T = because ~ /
EQ"':F\ HiAMF % UTco = went out for a stroll /

After resting for a while, we went out for a stroll because it was still bright.

<5

ZER = air /

hHY <subject particle> /

BEWLLT=BWULD DT TT, £ULT. =(X)was delicious and .....

* To make the te-form of an i-adjective, we change the last i’ of an i-adjective into ‘kute’. And to
make the te-from of a na-adjective, we add ‘de’ to a na-adjective without ‘na’.
* To join the sentence which ends with [i- adjective / na-adjective / noun] 9’ to another

sentence, ‘[stem of i-adjective] < T or [stem of na-adjective / noun] T’ is used . We call them

te-form of an adjective and a noun. To join adjectives, we also use te-form of an adjective. And it
is sometimes used to show reason as well. te-form of an adjective and a noun can be used in
either the nonpast sentence or the past sentence.

* In addition to ‘[stem of i-adjective] < T’, [stem of i-adjective] <’ is also used to be more

formal. /
F LU E

=tH =scenery also /
>2<
EUM>/TY, =was beautiful //

The air was fresh and the scenery was also beautiful.

HWiE

RTILIC W53 F'Eﬁ while we stayed at the hotel

* L\ % = <plain-style-nonpast-affirmative> of L\&E 9 sg2 = stay, there is ~, have ~, exist
HWIE

* [dictionary-form] [& = while doing

|& <topic particle> /

EEI\ = everyday /

Z%h/:;ﬁ C = everybody, with everybody /

#%5 Uz D =take a walk, (do ~ and do other things as well)
=4 S hIE
* 85 U fz = <plain-style-past-affirmative> of 82> L £ 9 g3 (take a walk)
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* [ta-form] D [ta-form] D U ¥ 9 =do ~, do ~ and do other things as well, do many things
such as doing ~ and doing ~ /
Jig}iﬂ% in the lake /
,7'M\71 N =swim, (do ~ and do other thlngs as well)
/7]<L\72_ = <plain-style-past-affirmative> of ,iké £9 g1 (swim)
* [ta-form] D [ta-form] D U ¥9J = do ~, do ~ and do other things as well, do many things
such as doing ~ and doing ~ /
?ﬁ = insect /
%Z <direct-object particle> /
& o fc D =catch, (do ~ and do other things well)
* & o o = <plain-style-past-affirmative> of T% N £ 9 g1 (catch, capture)
* [ta-form] D [ta-form] D U ¥ 9 = do ~, do ~ and do other things as well, do many things
such as doing ~ and doing ~ /
}g:l%%': U7z D =take a nap, (do ~ and do other things as well)
*BE%Z U fc = <plain-style-past-affirmative> of )UE\%(’&) L £ 9 g3 (take a nap)
* [ta-form] D [ta-form] D U ¥ 9 =do ~, do ~ and do other things as well, do many things
such as doing ~ and doing ~ /
U & U, =partof Tta-form] D [ta-form] D U E U 72’ = did ~, did ~ and did other things as
well, did many things such as doing ~ and doing ~ //

While we stayed at the hotel, we took a walk, swam in the lake, caught insects, took a nap and
did other things as well everyday. (we did many things such as taking a walk, swimming in the
lake, catching insects and taking a nap.)

bl =we/
(& <top|c particle> /
£ L H > fo = <plain-style-nonpast-affirmative> of % a2 L > 7= TT = (X) was enjoyable /
*a <confirmation particle> /
Z AR %Té = the life like this /
H=also/
fc FIT = occasionally /
|& <topic particle> /

L\LY = <plain-style-nonpast-affirmative> of L\\\T9 = be good /
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13 <confirmation particle> /

& <quotation particle> /

%b A5, = while talking (speaking)
* [masu-form] 7&HY5 = while doing ~ /

WX

hZ
KICIBD X U7, =wenthome //

We went home while talking the things like ‘We had a good time (It was enjoyable), didn’t we? It
is OK to lead the life like that occasionally, isn't it?’ &

(130
&
EARIRTIVICAFT D £ U7DH. = What kind of hotel did they stay?

9t
o
Z
of

5% Rrh

HW AN, FiE 2R RT)L = the hotel which is old, but whose inside is beautiful &=

T=d
TLEY TF—LN EUHS 71kT )L = the hotel that they can enjoy TV and games
f=d )
* 2 U 8% = <plain-style-nonpast-affirmative> of 28 L ) &£ 9~ (can enjoy, be able to enjoy) which
fed
is the potential-verb of 2 L A4 X3 g1 (enjoy) /

N A D
WBWBR D N %> T, EFA /RTIL = the hotel which has various things and is

convenient
*Ho>T=HDHFEI, #UT. =thereis ~ and ....

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
it is sometimes used to show reason as well.
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AE 0
RIS MRTILET ES3P>TITEFXRLE D =How did they go from the station to the hotel?

AU > RA W U AWCES

%R?b‘b 30 7 /NRIC %D’C INREMIS ZH%F'EﬁL,U: ﬂ%‘a‘ % U7z =They were on the bus for
thlrty mmutes and then walked for more than two hours form the bus stop.

“To5T, =&NE Lo LT, =boarded and ..

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
it is sometimes used to show reason as well.

AU > RA TWw UChAWCLES D

,%Rb\b 30 o /\R{EEXT ﬂﬂ\—c INAIC 2RI E 8D £ U#zs = They walked to the bus
stop for thlrty mlnutes and then were on the bus for more that two hours.

ﬂ%b\’c\ = ﬁ:% FUro £LT. =walked and ..
* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And

it is sometimes used to show reason as well.

£ m™h I é/ub@')S/uL\b;j »H3

,%Rt)\b 2H#ﬁaﬁL< AV s %DT INZAfEMNS 30 PLLEHZFFX U, =They were on the
bus for nearly two hours, and then walked for more than thirty minutes form the bus stop.

* %’)T\ = %D FUf, #UT, =boarded and ....

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
it is sometimes used to show reason as well.

U AWNCES AU > RAED

%R?b‘b 2R E /N R %D’C /\7\1~7b‘b 30 MaE< ﬂz\é‘ % U7z =They were on the
bus for more than two hours, and then walked for nearly thirty minutes form the bus stop.

* %’)T\ = %'O FUfco £UT. =boarded and ....

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
it is sometimes used to show reason as well.

(132
RIC
RFILIC BWT A5, % LE Ui = What did they do after arriving at the hotel?

7/10



*EHZ%9 g1 =arrive, reach /
* [te-form] A5 = after doing ~ //

*E?B}f% [ ?%75\7? We, 9<IC Jégﬁj?l ?L%ré? F U7zs =They went to the lake immediately without
going to the room.

* ?%75\73\;\ T = ?%% FtA TUJM, #UT. =didntgoand....,/

* T NT = without going /

* [nai-form 7& L\ — 72U\ T] = without doing ~, don’t do ~ and ....., didnt do ~ and ..... //

NP W &3 . »g

HLEIC T>T. BRET o & Rkd+E UTzs =They went to the room and rested all the time
until night. &

*ToTC. =172 F Uk, £LT. =wentand ...../

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
it is sometimes used to show reason as well. //

‘EQK)%:'C“ TLEZ %’C Mo, %% %LC 21&“\ gz'i U7zo = After watching TV in the room, they
went out (in order) to see stars.

* %i’é‘ sg2 = see, watch, look /

* [te-form] M5 = after doing ~ /

* [masu-from] [T = in order to do ~ //

NP ENe Yy S hF A
HET DU RAT 5. BT T F Lo, = After resting in the room for a while, they went
for a stroll.
»y
*{RHE T g1 =rest/
* [te-form] H 5 = after doing ~ /
* [noun] (< = for (the purpose of) [noun] //
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133

HFLhD TuhD
CRBEFR EHDEFT M. EAR EFTI DN, =There is ‘the life like this’ in the article, but
what kind of life is it?

1
»
LL| ¢ = on the mountain /

H

St
A

WA T D, =play, (do ~ and do other things as well)

* %E/u?‘i = <plain-style-past-affirmative> of %Zﬁi@“ g1 (play)

* [ta-form] D [ta-form] D U ¥ 9 =do ~, do ~ and do other things as well, do many things
such as doing ~ and doing ~ /

Jgﬁ’& U7z D =take a nap, (do ~ and do other things as well)

* gﬁ% U fc = <plain-style-nonpast-affirmative> of }gﬁé(’&) L &9 g3 (take a nap)

* [ta-form] D [ta-form] D U ¥ 9 =do ~, do ~ and do other things as well, do many things
such as doing ~ and doing ~ /

9 % = part of [ta-form] D [ta-form] D 9 %’ which is the plain-style of ‘[ta-form] D [ta-form] D
L &9’ =do ~, do ~ and do other things as well, do many things such as doing ~ and doing

~~—

gwho

40E =life //

the life that they play on the mountain, take a nap and do other things as well

%Z <direct-object particle> /

L7c D, =do, (do ~ and do other things as well)

* U 72 = <plain-style-past-affirmative> of U &9 g1 (so)

* [ta-form] D [ta-form] D U ¥ 9 =do ~, do ~ and do other things as well, do many things
such as doing ~ and doing ~ /

?ﬁ = insects /

%Z <direct-object particle> /

& > fc D =catch, (do ~ and do other things as well)

* & o fc = <plain-style-nonpast-affirmative> of & D F9 g1 (catch)

* [ta-form] D [ta-form] D U ¥ 9 =do ~, do ~ and do other things as well, do many things
such as doing ~ and doing ~ /
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9 % = part of [ta-form] D [ta-form] D T %’ which is the plain-style of ‘[ta-form] D [ta-form] D
U 9’ =do ~, do ~ and do other things as well, do many things such as doing ~ and doing

~

iRV ]

40E = life //

the life that they play a game, catch insects and do other things as well

‘S‘@i L7c D, =take a walk, (do ~ and do other things as well)

* %ﬁhﬂg U 7z = <plain-style-past-affirmative> of #{#> U £ 9 g3 (take a walk)

* [ta-form] D [ta-form] D U ¥ 9 =do ~, do ~ and do other things as well, do many things
such as doing ~ and doing ~ /

TLE=TV/

%Z <direct-object particle> /

%7”: D = watch, (do ~ and do other things as well)

* %7‘: = <plain-style-nonpast-affirmative> of %i@' sg2 (see, watch, look)

* [ta-form] D [ta-form] D U &9 =do ~, do ~ and do other things as well, do many things
such as doing ~ and doing ~ /

9 % = part of [ta-form] D [ta-form] D T %’ which is the plain-style of ‘[ta-form] D [ta-form] D
L ¥79’ =do ~, do ~ and do other things as well, do many things such as doing ~ and doing

~

jARY ]

H0E =life //

the life that they take a walk, watch TV and do other things as well

TLhD

FEWLWHD %= é’\‘"& %% L 7\ & 7F = the life that they keep eating delicious food and
don’t do anything

* é/\‘“c\ = é’\“i?o ZUT. =eatand.....

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And

it is sometimes used to show reason as well.
* L7& L) = don’t do = <plain-style-nonpast-negative> of L £ 9 g3 (do)

10/10



